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Name: __________________________________



1
In the diagram below of [image: image1.png]MACD



, [image: image2.png]DE



 is a median to [image: image3.png]AC



, and [image: image4.png]


.

[image: image5.png]



If [image: image6.png]ms DAR = 32°



, what is [image: image7.png]ms BDC



?

	1)
	32º

	2)
	52º

	3)
	58º

	4)
	64º



2
In the diagram below, [image: image8.png]DE



 divides [image: image9.png]AB



 and [image: image10.png]AC



 proportionally, [image: image11.png]


, [image: image12.png]


, and [image: image13.png]DF



 bisects [image: image14.png]ZBDE



.

[image: image15.png]NN




The measure of angle [image: image16.png]DFB



 is

	1)
	36°

	2)
	54°

	3)
	72°

	4)
	82°



3
In the diagram below of triangle MNO, [image: image17.png]


 and [image: image18.png]2O



 are bisected by [image: image19.png]Y7



 and [image: image20.png]OR



, respectively.  Segments MS and [image: image21.png]OR



 intersect at T, and [image: image22.png]


.

[image: image23.png]



If [image: image24.png]ms TR = 28°



, the measure of angle OTS is

	1)
	40º

	2)
	50º

	3)
	60º

	4)
	70º



4
In the diagram of [image: image25.png]MABC



 below, [image: image26.png]AR



 bisects angle BAC, and altitude [image: image27.png]BD



 is drawn.

[image: image28.png]



If [image: image29.png]


 and [image: image30.png]msABC = 60°



, [image: image31.png]m/ FREB



 is

	1)
	35º

	2)
	40º

	3)
	55º

	4)
	85º



5
In the diagram below of [image: image32.png]MABC



, [image: image33.png]CBF



 is drawn, [image: image34.png]AB



 bisects [image: image35.png]ZFBD



, and [image: image36.png]BD1AC



.

[image: image37.png]



If [image: image38.png]


 what is [image: image39.png]


?

	1)
	24º

	2)
	33º

	3)
	48º

	4)
	66º



6
In the diagram below, [image: image40.png]m/ BDC = 100°



, [image: image41.png]


, and [image: image42.png]m/ DB = 30°



.

[image: image43.png]



Which statement is true?

	1)
	[image: image44.png]MABD



 is obtuse.

	2)
	[image: image45.png]MABC



 is isosceles.

	3)
	[image: image46.png]msABD = 80°





	4)
	[image: image47.png]MABD



 is scalene.



1
ANS:
3

[image: image48.png])
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2
ANS:
2

[image: image49.png]


;  [image: image50.png]


;  [image: image51.png]LEDE =360 - (154 + 26 +72) = 108



;  [image: image52.png]spor= 128 _ 5,



;  [image: image53.png]LDFE = 180- (54 +72) = 54
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3
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4

[image: image54.png]
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4

[image: image55.png]



REF:
012305geo

5
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1

[image: image56.png]
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6
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2

[image: image57.png]
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